option ls=80 ps=55 nodate;   /* formatting for 8 by 11 paper */

libname sys 'C:\Documents and Settings\dn03\My Documents\nagin\DATA';

     data a;

     set sys.workshop_data;

     t1=;

     t2=;
     t3=;

     t4=;

     t5=;

     t6=;

     t7=;
if nmiss(qcp84bat,qcp88bat,qcp89bat,qcp90bat,qcp91bat,qcp92bat,qcp93bat)>3 then delete;

proc traj  data=a out=b outstat=crimstat outplot=crimplot ;

   id id;

   var qcp84bat qcp88bat qcp89bat qcp90bat qcp91bat qcp92bat qcp93bat;

   indep t1-t7;

   model cnorm;

min 0; /* actually unnecessary because default is 0 */ 

max 6; /* always necessary but only pertinent to cnorm option */

ngroups 4;

order 0 2 2 0;

     run;

 proc print data=crimplot;

 run;

%trajplot(crimplot,crimstat, 'physical aggression vs. Age', 

'Four Group-CNorm Model',’y-axis label’,'Age/10')

